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Computer Engineering Programming 1

Lesson 4
- MI5& =41 AHLFRE

Lecturer: JUNBEOM YOO
Jbyoo@konkuk.ac.kr
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/* T AALX T2 )2l *x/
#include <stdio.h>

SAO HA S
ZZdt0l HE

int main(void)
Oll RIQL U T,

{
int x,y:
x =1
printf("==4! x+12| gt=2 %d\n", x+1);
printf("==4 y=x+12| &tE %d\n", y=x+1);
printf ("4l y=10+(x=2+7)2 at2 %d\n", y=10+(x=2+7));
printf("==4 y=x=32| 2t2 %d\n", y=x=3);
return O;

}

A x+19| g2 2

L=Aly=x+12| gt 2

Al y=10+(x=2+7)2 2t2 19

4l y=x=32| g2 3
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// At= AHAXIE 0|2 Z=2 7]
#include <stdio.h>
int main(void)

0E

{
int a,b;
printf(" = I A AFXE="); @ T AT =2
scanf("%d", &a); SHH GTAAF=3
printf("S 2 S AFXE="); y |2+325
scanf("%d", &b); 2-3=-1

2*3 =26

printf("%d + %d £ %d\n",a,b, asb); | 277 =0
printf("%d - %d 2 %d\n", a, b, a-b); 77 =
printf("%d * %d £ %d\n", a, b, a*b);
printf("%d / %d 2 %d\n", a, b, a/b);
printf("%d %% %d 2 %d\n", a, b, a%b);

}
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// Lz A AAT T Z 1) 2N
#include <stdio.h>
int main(void)
{
printf("3/2 = %d \n", 3/2); [/ B/ =
printf("4/2 = %d \n", 4/2);
printf("5/2 = %d \n", 5/2);
printf("3.0/2.0 = %f \n", 3.0/2.0); /25 A8/ 25 A&E
printf("4.0/2.0 = %f \n", 4.0/2.0);
printf("5.0/2.0 = %f \n", 5.0/2.0);
printf("3.0/2 = %f \n", 3.0/2), // 2= 28/ 8=
return O;
}
32 =1
42 =2
5/2=2

3.0/2.0 = 1.500000
4.0/2.0 = 2.000000
5.0/2.0 = 2.500000
3.0/2 = 1.500000




| LrH K| O ARKLE
FHIAL S CFAT

Lt X| &AHAFXF(modulus operator)= A BHR{| O AHAMKAE = HRY
O AHALMKZ L+=RUES B8Re| LIHX[E ALt
— 10 % 2= 00|LC}.

— 5% 7= 50|LC}.

— 30 % 9= 30|LC}.

LHD{R| QIAMKHE O| 83t B40t 42 1&
— X % 27} 00| T ®hA

LD X| HAEXpS O] &2t 59| Hj == H T
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// UHX HaEA 22 )2
#include <stdio.h>
#define SEC_PER_MINUTE 60 // 1=2 60=
int main(void)
{
int input, minute, second;
printf("=CHR 2| Al2tS LECAIR:(32L=0I5H) "),
scanf("%d", &input); // 2212 AltE S=Lh
minute = input / SEC_PER_MINUTE; =
second = input % SEC_PER_MINUTE; /[l 2 =
printf("%d== %dZ %d=& LICt \n", input, minute, second);
return O;
}

THPO N 2HE &S0l L2329 F0/0F) 70
/0= 12 10=8/L/L}

1]




H = OAFTL
T = =N
L A0 832 B
x = -10;
y=-x. // &H=yll g2 100] =L

10 -] | 20

—E oI% QiAt
RtolT7I = ot
T4 QALREON
T 3

16



HSE riol AdAFTL
= H -llge 22N

EH 3k tHQl A ALRE ol o
X +=y X=X+y
x+=1 // x=x+1 X2y X=X-y
x*=5 // x=x*5 %= Xx=x*y
X-zy+1 // x=x-(y+1) ey Sy
xesped - AnssEe Xy x=xhy
x+=y/z //x=x+y/z ey = xdy
XTh=x+y [/ x=x%(x+Yy) ey cexly
x "= x=x"y
X =y X=Xy
X <=y X=X<«Ky




HSE rHOol AL
= I | = L

>

-

// 2 Y AAMX EZ )2
#include <stdio.h>

int main(void)

{
int x =10,y =10, z = 33;
X +=1; /] x=x+1,
y *=2; /ly=y*2;
z2%=x+y., //z=2%(x+y); =l
printf("x=%d y=%d z=7%d\n" x,y, z).
return O;

}

x=11 y=20 =z=2
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#include <stdio.h>

int main(void)

{
int x = 10;
printf("==41 x++ 2| 2t %d \n", x++);
printf("& M x2| Bt %d \n", x);
printf("==4 ++x 2| gt %d \n", ++x);
printf("& M x2| gt %d \n", x);
printf("==4! x-- 2| gt %d \n", x--);
printf("& M x2| Bt %d \n", x);
printf("==4 --x 2 g& %d \n", --x);
printf("& M x2| Bt %d \n", x);

}

O

A& x++ 9 & 10
S xS & 11
+4& ++x 9 2 12
S x| gt: 12
A& x-- S & 12
B x< & 11
F4 --x 9 g 10
&1 xS &t 10
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double f

f =10 + 20; // foll= 30.00| X Z&H=IC}

TERCET

int i;

i = 3.141592; // i0l= 30| H&ECH,

=5 =
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#include <stdio.h>
int main(void)

{

char c;

int i;

float f;

¢ = 10000; // LHE B
i=123456 +10; // LH& HAEt

f =10+ 20; /] 2 HE

printf("c = %d, i = %d, f = %f \n", c, i, f):
return O;

CHCPROGRAMM#convertitconvertl.c(10) - warning C4305: '=

‘const int ' to ‘char '

CHCPROGRAMM convertitconvertl.c(11) . warning (4244, '=":

" truncation from

conversion from

const double ' to 'int |, possible loss of data

c =16 /=11, f = 30000000
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shorty
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// B ALAICS KIS St T2 )
#include <stdio.h>

int main(void)

{
char x = 100;
char y = 100;
char z;
Z=X+Y:
printf("z = %d \n", 2);
printf("x +y = %d \n", x +y);
return O;
}
z = -56

x +y =200
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10.0/ )|+ n.2345
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(RSE) M E=H

(double) (5)
f = (double)i + (double)j:

f = (double)((int)y + 3);
f = (float)(x = 5); /] =4 x =52 212! 50t floatE 22 B &
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1. inti; o =

, 1. Hagwijdo
2. double f; 2. SS AAEH A A
3. f=5/4; 3. (H/HP)= B
4. f=(double)5 / 4; 4. 52 2ESALFOZ BEGIN HAH, Bis SESALES0| &
5. f=5/ (double)4: 5. 42 2SASTOR BEGI0 HA, MHE REALES0| =

' ’ 6. B5U4IEDE BPSALTOZ HEIGIH HL
6. f = (double)b / (double)4;
7. 1.3+1.823.12 HMED H4E B0 Y22 = 3

7. i=13+1.8; 8. (int)1.3+ (int)1.82 1+12 E N A i= 2
8. i=(int)1.3 + (int)1.8;
3. f=1
4. f= 125
5. f= 125
6. f= 125
7. i= 3
8. i= 2
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— // 13F 27f 282 AHA

11=2 // 12} 27} Ct28 2 At

1 <=2 // 10| 2HLC} 2o O 2 At

1< 2 // 10| 2HC} 2o o2 At

(1+2) == (1*2) /] (1+2)7} (1*2)2f 7*X| E’JEEE A
X>=Yy /] X7t y2Cf 3AL 22 H

i ==10 // 17t 1010 2o ™ &

k > 3 // k7} 3ECH 3™ &

m!=6 // mit 60| ZX| Gt ™ &

int bool;

bool = (3 == 5); // bool0ll= 00| CH = Ch.
bool = (3 == 3); // boolOll= 10| T &I CF.

bool = (5 ==5) + (6 = 1); // boolll = 1+1=20} O & =l L},
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#include <stdio.h>

int main(void)

{
int x=10, y=20;
int rl, r2, r3, r4;

rl = (x ==vy);
r2 = (x = y);
r3 = (x>=y);
r4 = (x <= y);

printf("r1=%d \n", rl);
printf("r2=%d \n", r2);
printf("r3=%d \n", r3);
printf("r4=%d \n", r4);
return O;
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1100 // 00| OtLI®H 02 2 BtEL,

-3 // 00| OtLI®H 022 BtEL,

Ix // B4 x2| g+0l 0013 1,00 OtLIH O

I(x + 1) // %A1 (x+1)2 2601 00/2 1, 00| OFLIE O

x>y && x<z) // 2H=4 x>y &&x<z2 gt0l 00/ 1,00] OtLIE O
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// =c| HELXF E2 )
#include <stdio.h>

int main(void)

{
int x=10, y=20;
int rl, r2, r3, r4;

rl = (x == 10 && y == 20);
r2 = (x == 10 && y == 30);
r3 = (x>=10 || y >= 30); @

r4 = I(x == b);

printf("ri=%d \n", rl); ri=1
printf("r2=%d \n", r2); r2=0
printf("r3=%d \n", r3); r3=1
printf("r4=%d \n", r4); rd=1
return O;

37




IGIARFO| 44 &9l B UARL ++Lt Zha OIA
&9 || HARIO] M w9l BE At GIAKILE BH GAMRLECE
Ltr},
&7} || ALMKIECH= 4 =2|7F =L}
x<0 || x>10
x5 || x<10 && x>0 // x>5 || (x<10 && x>0) 2t S

o]

(x>5 || x<10) && x>0

gl Z @r
LCooQ©

Q foujoz
I Hl o 2

9 ! ot o




odl Tl
b | B

=

© HEZH4E L+ HOEICE

@ 10022 L}+0 HOjX|= A= X2 stCh
3 4000 2 LI5S0 HOX|= 9= &4H0|LC}

// &8 T2 )
#include <stdio.h>

int main(void)

{

int year, result;

printf("H S LSHGHAI2:");
scanf("%d", &year);

result = (year%4 == 0 && year7%100 != 0) || year7%400 == O;
printf("result=%d \n", result);
return O;
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#include <stdio.h>
int main(void)
{

int x.y:

printf ("X 1R ===");
scanf("%d", &x)
printf("= M ===");
scanf("%d", &y)

printf("2=="%d \n", (x>y)? x i y).
printf("A2==%d \n", (x <y) ? x 1 y);
}

HE R £=2
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=L} (IR

24=3

KO A=
=T -
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x=1, y=2; x=1; y=2;2 =S¢
x=(2+5,5-3); x=2Jt & Ct

x = 2+3, 5-3; x=5J} = Ct

X++, y++; x2ty=13Jt=Ch
printf(" Thank"), printf(" you!\n"); Thank you!
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size_t n = sizeof(int);
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#include <stdio.h>

int main(void)

{
int i;
double f;
size_tn;

n = sizeof(int);
printf("int& 2l 371=%u \n", n);

n = sizeof(i);
printf("21==i2 2J(=%u \n", n);

n = sizeof f;
printf("21== f2 2I[=%u \n", n);
}

int=2 2 3J(|=4
H4 02 3)(=4
K4 O 90|=8

45




T R AT FTTTTTERT
X X X X X X X X X X X X X X X
B I R e e e e i e
KK 22X T AAXAANAANANAANANAANRNR
op I I I I I I A I R R R RO I A
=7 o
Ol i
K iof
l—l
* —
O_I N <
- KD
H 5 g
< il
o] = - A
= oF ~
¥ K X n
0 T F v
- i
T OOk
= I
Y oF 1 s
ng %_u) m@ I
< + < = —_ b
gl +.m._uac%(_\ A < U
.r\_/&m_.._\/)\} \__/ @..__ = I _
[Lr S®0 M W A TRL 00 =
— = g=my VS g _ O+ W
S B ool ¥F V VIS —e =& 1 =
—
=
=
(SR
<l F - 0 ot 0o ~N®®o 2 2ITR



_JEO
o|7} &t

0

70

<H

8

— -
X <=10) && (y >= 2
= 20)

B AR} &=
Ll
ApLp =2 ALEA;

1

- X+2==y+3



SIAXS0] o2 ZH7F A2 OH A
3

©) @) @
A S I s - aeneamas
N . Y, =g waEc
— = =)
N Y
— P57
N J
5 |

48



Rl

#include <stdio.h>

int main(void)

{
intx=2,y=3,z=4;

printf("%d \n", 2 + 3 >= 3 + 12);
printf("%d \n",2>3 || 6 >7);
printf("%d \n", 2 || 3 && 3 > 2);
printf("%d \n", - ++x +y--);
printf("%d \n",x=y=2z=6);

printf("%d \n", (x =2 + 3, 2 - 3));

printf("%d \n", x /=x=x*y);
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